Using Trig to Solve right triangle problems

Thursday, November 24,2016 3:53 PM

In our last 3 lessons we learned to use the Primary Trigonometric
Ratios
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In every Trig Problem you will work with three quantities

Every Trig Ratio has three quantities!!!!
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In order for youto solve any trig problem you MUST know two of the three

quantities
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Can you use tan ratio to solve for x?
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Which one can you use?
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Solve the following triangle ( this means to solve for all sides and angles)

It's important to make a list of what you need to solve for.
Remember there are multiple ways of solving right angle triangle

List of unknowns you must find.
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Out of these three that you must find, Which IS the Sasiest 16 find?
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After you solve for the easiest one, you have a choice on which one to solve for.
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How about word problems like this

Solve for <ABC, where angle C = 90 degrees, AB = 22 cm, BC=10cm
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Step 1- Determine the vertex (what is a vertex?)
Step 2- Draw the triangle (the longest side will most likely be the hypotenuse)

Step 3 - Label the sides

Step 4 - solve for the vortex
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(})  vertexis the middie letter in the measurement. For the example ZABC The middle letter i B.

£ B=vertex
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The triangle PQR has an angle P = 90 degrees, QR length 72.7cm and PQ length of 33cm. Determine
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